

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
MARCH 15, 2011 AGENDA

Subject:	Type:	Submitted By:
AUTHORIZATION TO PURCHASE JOHN DEERE GATORS	◆ RESOLUTION ORDINANCE RECEIVE/FILE	JOE SOUCIE PUBLIC WORKS DIRECTOR

SYNOPSIS

A resolution has been prepared authorizing the purchase of two (2) 2011 John Deere HPX Diesel Gators from Bennington Equipment, Inc., Elkhorn, Nebraska, for the Public Works Department in an amount not to exceed \$25,422.96.

FISCAL IMPACT

The FY 2010/11 General Fund Budget includes \$12,500.00 in the 01.22 Parks and 01.24 Sports Complex budgets for a combined total of \$25,000.00. The \$422.96 overrun will be covered by savings in other line items in the Parks and Sports Complex budgets.

RECOMMENDATION

Approval

BACKGROUND

The two new Gators will replace vehicles #2255 a 1993 John Deere Gator and #2243 a 1996 John Deere Gator. The two existing Gators will be kept in service for general transportation needs as long as they run. No additional funds will be spent for repairs other than regular routine maintenance like oil changes. The purchase is being made off the State Contract #12346 OC.

RESOLUTION NO. _____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA, AUTHORIZING THE PURCHASE OF TWO (2) 2011 JOHN DEERE HPX DIESEL GATORS FROM BENNINGTON EQUIPMENT INC., 11550 NORTH 204TH STREET, ELKHORN, NE 68022, IN AN AMOUNT NOT TO EXCEED \$25,422.96.

WHEREAS, the City Council of the City of La Vista has determined that the purchase of said gators for the Public Works Department is necessary; and

WHEREAS, the FY 2010/11 General Fund Budget with savings in the Parks and Sports Complex budgets include funds for the purchase of said equipment; and

WHEREAS, the purchase will be made off State Contract #12346 OC, and

WHEREAS Subsection (C) (9) of Section 31.23 of the La Vista Municipal Code requires that the City Administrator secures Council approval prior to authorizing any purchase over \$5,000.00.

NOW, THEREFORE, BE IT RESOLVED, that the Mayor and City Council of La Vista, Nebraska authorize the purchase of two (2) 2011 John Deere HPX Diesel Gators from Bennington Equipment Inc., 11550 North 204th Street Elkhorn, NE 68022, in an amount not to exceed \$25,422.96.

PASSED AND APPROVED THIS 15TH DAY OF MARCH 2011.

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, CMC
City Clerk

JOE FYI



JOHN DEERE

BENNINGTON EQUIPMENT, INC.
11550 N. 204TH STREET
ELKHORN, NE 68022
Phone: 402-238-2211
Fax: 402-238-2895

GATORS

Quote Id : 5176920

Customer Name : LAVISTA,CITY OF

Quote Summary

Prepared For :	Prepared By:	Quote Id :	5176920
LAVISTA,CITY OF 8116 PARK VIEW BLVD LAVISTA, NE 68128 Business:402-331-8927 BLUKASIEWICZ@CL.LA-VISTA.NE US	BENNINGTON EQUIPMENT, INC. TY J JERET 11550 N. 204TH STREET ELKHORN, NE 68022 TYERET@BENNINGTONEQUIP MENT.COM	Created On :	February 22, 2011
		Last Modified On :	February 22, 2011
		Expiration Date:	March 31, 2011

Equipment Summary	Selling Price	Qty	Extended
John Deere HPX Diesel Green & Yellow	\$ 9,043.48	X 2 =	\$ 18,086.96
Contract:			
John Deere BM21913 Bedliner	\$ 230.00	X 2 =	\$ 460.00
Contract: Open Market			
John Deere BM23078 Cargo Box Power Lift	\$ 740.00	X 2 =	\$ 1,480.00
Contract: Open Market			
John Deere BM22547 Deluxe Light Kit	\$ 305.00	X 2 =	\$ 610.00
Contract: Open Market			
John Deere BM23063 OPS Poly Roof-Black	\$ 315.00	X 2 =	\$ 630.00
Contract: Open Market			
John Deere VGB10132 Floormats	\$ 88.00	X 2 =	\$ 176.00
Contract: Open Market			
John Deere PC9345 Parts Manual	\$ 60.00	X 1 =	\$ 60.00
Contract: Open Market			
RAHN JDGL650HPX-C Ballfield Finisher	\$ 2,725.00	X 1 =	\$ 2,725.00
Contract: Open Market			
JRCO JRCO 504U Broadcast Spreader with Front Mount	\$ 1,195.00	X 1 =	\$ 1,195.00
Contract: Open Market			
Equipment Total			\$ 25,422.96

Salesperson : X _____

Accepted By : X _____



BENNINGTON EQUIPMENT, INC.
11550 N. 204TH STREET
ELKHORN, NE 68022
Phone: 402-238-2211
Fax: 402-238-2895

Quote Id : 5176920

Customer Name : LAVISTA,CITY OF

* Includes Fees and Non-contract items

Quote Summary

Equipment Total	\$ 25,422.96
SubTotal	\$ 25,422.96
Total	\$ 25,422.96
Down Payment	(0.00)
Rental Applied	(0.00)
Balance Due	\$ 25,422.96

Salesperson : X _____

Accepted By : X _____

CONFIDENTIAL



Selling Equipment

Quote Id :5176920

Customer Name :LAVISTA,CITY OF

John Deere HPX Diesel Green & Yellow

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
9903M	HPX Diesel Green & Yellow	2

Standard Options - Per Unit

1000	High-Performance All-Purpose (HPAP) Tires	2
2000	18 In. Bucket Seat - Yellow	2
4000	OPS	2
5010	Less Deluxe Property Care Package for OPS	2
6010	Less Front Receiver Hitch	2
6110	Less Heavy Duty Front Brush Guard	2
6310	Less Front Hood Rack	2

Dealer Attachments/Non-Contract/Open Market

VGB10038 1.25 In. (38 mm) Rear Receiver Hitch

BM22546 Brake/Tail Light Kit

BM19635 Drawbar, 1.25 In. (38mm)

BM22978 Horn Kit

VG12336 Rear Tire

AM136148 Rear Wheel

John Deere BM21913 Bedliner

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
BM21913	Bedliner for Cargo Box	2

John Deere BM23078 Cargo Box Power Lift



Selling Equipment

Quote Id :5176920

Customer Name :LAVISTA,CITY OF

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
BM2307 8	Cargo Box Power Lift	2

John Deere BM22547 Deluxe Light Kit

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
BM2254 7	Deluxe Light Kit	2

John Deere BM23063 OPS Poly Roof-Black

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
BM2306 3	OPS Poly Roof - Black	2

John Deere VGB10132 Floormats

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
VGB101	Floormats	2
	32	

John Deere PC9345 Parts Manual



Selling Equipment

JOHN DEERE

Quote Id :5176920 Customer Name :LAVISTA,CITY OF

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
PC9345	Parts Maual (Paper)	1

RAHN JDGL650HPX-C Ballfield Finisher

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
RAHN J	Rahn Ballfield Finisher	1
DGL650		
HPX-C		

JRCO JRCO 504U Broadcast Spreader with Front Mount

Equipment Notes:

Stock Number:

Contract: Open Market

* Price per item - includes Fees and Non-contract items

Code	Description	Qty
504U/1	JRCO Broadcast Spreader	1
25HPX		